1. AABC ABC (1,3), (-6, 4), (4, -1) ZA
(A)45° (B) 60° (C)120°
2. A ABC
3. X, Yy x2+y2:4 3x—4y+5
(A)5 (B)10 (C)15
X-1 y-3a z+a X+3 y+1 z-a
4, L;: = = 5" = =
-1 2 1 2 1 -2
(A)1 (B)2 ()3
5.
(A)@3,2,-49) (B)@,1,-3 (©)(-1,0,-2
6. (4,-7) (x-D%+(y+3)?=25

(A)3x—4y—40=0

7. 5 3 2
2 ®)2 ©7

8. 10 1 9 1

4

w2 ®) ©p

9. 4559 7802
(A)17 (B)37 (C)4r

10. i =+/-1 1+i 2+i
(A)3+i (B)7+IE ©) 12+'

1. a,p x2 +5x+1=0 (Vo +B)?
(A)-7 (B)-3 (C)-7++21

12. (1,3),(-6,4), (4, -1)
(A)(=3,0) (B)(7.4) ©) (11, -2

13, f(X)=x?+x-1 f ()
(A)-2 ®)-> (©)-1

(B)3x+4y+16=0

(C)4x—3y-37=0

(D)135°

(D)20
a

(D)4

(D)(-3,-1,-)

(D)4x+3y+5=

2 1 1
4
(D)3
9
(D)ﬁ
(D)83
7+i

O

(D)-3++/21

(D)(-9,8)

1
B)-7

0

10



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

328" =%(4X) X

(A)-5 ®)-53 (©)-6 ©)-6
x+1 x%® +50x* -1
(A)147 (B)50 (€)-1 (D)-52
f(x) x-1 3 2x—-3 2 (x=D(2x-3)
(A)3x—4 (B)—2x+5 (C)3 (D)2
a, b, c x* +ax3 +bx? +cx+25=0
(A)-1 (B)1 (C)5 (D)25
log2=0.3010, 2'.2%2.2%......29.010
(A)15 (B)16 (C)17 (D)18
ol 92 93 .. 29 910 )
(A)2 (B)4 (C)6 (D)8
a=(0.0)%, b=(0.2)%?, c=(0.3°3, d=(0.4)" a,b,c,d
(A)a>b>c>d (B)a>b=d>c (Ca<b=d<c (D) d>c>b>a
f(x) = x® —10x° +19x* — 22x3 —12x® - 33x— 2 f(8)
(A)-58 (B)-10 (C)14 (D)62
1+ Iog%(3x—1) >0
(A)%<x<1 (B)%Sx<1 (C)%<xsl (D)%stl
2Iog§— Iogg+ 210g+/125
()1 ®)> (©)2 ©°>
f(X) =+/3sinx—cosx+5 f ()
(A)7 (B)S (©)3 (D)-3
[ sing = % sin26
(A)“—f <B)—¥ ©)+ © -
S CERD NG
(1++/3)°
®) ®) ©3 )3
o, f sng=2 snf-;  sn@-p)
(A) =~ (B)-- () V1522 0y V1522
12 12 12 12



28.

29.

30.

31

32.

33.

y b ¢l |d b ¢ |az+d; b ¢
ag by c3 |d3 by c3 |ag+d; by ¢

y=-2x%+8x-13
(A) (2,-21) (B) 2, - %
(©) X (D)-2x? +8x—13>0

(E) X=2

20
(A)190 (B)380 (C)210 (D)21
10 2 5 4 1 5 1
16 29 45 61
A) B) <> i D)=
( )11 ()ll ()11 ( )11
2,2,3,6,8,8,8,15,
(A)6 B)7 (©)8 (D)13
31 40
a, b, c,
(A) a#0 a-b=a-c, b=c (B) \5\:6\, a=b
(C) a+b=a+c, b=c (D)E-E:\E\
(E)a-(b+c)=a-b+a-c
& b ¢ kay kb ko a b ¢ |5 by a
ag by c3 |kag Kby kcg a; by ¢ | b
y b gl | a a & b
(Cla; by, cyl=|by b, by (D) a =b,=c¢;3=0, a, b,
ag; by ¢ [ ¢ c3 az bs

G
C2 :O
C3



34.

35.

36.

37.

38.

39.

40.

(A)

(B)
©
(D)
(E)
E:x-2y+3z=5
(A) (-1,2,-3) E
© B,-1,0) E
(E) x E (5,0,0)

(A)X+y+z+6=0
(D)x-2y+2z+15=0
ABC ZA
(A)snA<0
(D)b+c<a
i=+v-1
()=~

(D)3+2i >2+i

(A)10%" +1
(D)123456

(D) E':-3x+2y-2z=9

S:(x+1)?+(y-5)°%+(z+4)* =16
(B)x+y+z+9=0
(E)x+2y+3z-13=0

a,b,c BC, CA, AB
(B)cosA< 0
(E)A ABC

(B)(1-i) =[-i*

(E)i2005 =i

(B)10%° -1
(E)345% 87321

\/(x+1)2 +(y—-5)? +\/(x—3)2 +(y-7)* =8

(A) 1,6)
(D) 2./5

(B) 8
(E) 2x+y=8

y z-1

3

(C)x—-2y+22+12=0

(C)b? +c? < a?

(C)[5+i|=+5° +i?

(C)3%

©)

2.3
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